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Statement: $h Yo
U=JZR,W>R=Y U=JZR,W>R=Y
Conclusions: fashy:

.Y<] .Y<]

.3 =Y .3 =Y

1) Only | follows

2) Only Il follows

3) Either | or 1l follow

4) Neither | nor Il follow
5) Both | and Il follow

4 @Reasoningbybasantsir
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Statements: $hYdl:
YZR<E;R>P=2C=A YZR<E,R>P=2C=A
Conclusions: fasay:

.LY>A .LY>A

IILE=C IILE=C

1) Only |l is True

2) Neither I nor Il is True
3) Both | and Il are True
4) Either 1l or 1l is True

5) Only Il is True

4 @Reasoningbybasantsir
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Statements:C<sH=M2Y;Y=sA=2X<P>L
Conclusions:

I.LA>C

H.A=M

PYA:C<H=M2Y; Y=SEAZX<P>L
fasay:

.A>C

IH.A=M

1) Only |l is true

2) Only Il is true

3) Either |l or Il is true

4) Both 1 and Il is true

5) Neither I nor Il is true
4 @Reasoningbybasantsir
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Statements: h Y.
O=D=S2G,E=sG=sU O=D=S2G,E=G=sU
Conclusions: G- K

1.O>E .O>E

II.E=0 II.LE=0

1) Only conclusion | follows

2) Only conclusion Il follows

3) Both conclusions | and Il follow
4) Either conclusion | or |l follows.
5) None follows

4 @Reasoningbybasantsir
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Statements: h Y.

W=2Z2=<Q<O0, FsZ<TW=Z=Q<0, F=sZ<T
Conclusions: fasy:

I W<T I W<T

II.O>F II.O>F

1) Only conclusion | follows

2) Only conclusion Il follows

3) Both conclusions | and Il follow
4) Either conclusion | or Il follows
5) None follows

4 @Reasoningbybasantsir
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Statement:
Q=P=R=sV;P=sL=0;V=S=T;)V=N<A
Conclusion:

I.LR=T

I.A>Q

CXIG R
%;I;=RSV;PSL=O;VSS=T;V=N<A
.R=<T

I.A>Q

1) Only conclusion | follow

2) Only conclusion Il follow

3) Either conclusion | or |l follow
4) Both conclusion | and Il follow

4 @Reasoningbybasantsir SLLELDGIALEL
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Six members of a family E, K, O, FFD and W
are related to each other. E is the father of
K who is the only son of D. The only
Unmarried sister-in-law of E is W who has
no brother. O is the only sibling of E. F is
the daughter of K.

U$h IRAR & T8 96T E, K, O,F, D 3iR W

?%@ﬂéﬁ;;aﬁ?ﬁm
HeleT &1 F K &1 gt 2| OB

e

%i
s
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Six members of a family E, K, O, FFD and W
are related to each other. E is the father of
K who is the only son of D. The only
Unmarried sister-in-law of E is W who has
no brother. O is the only sibling of E. F is
the daughter of K.

How many females are there in the family?

01.0One

02.Two

03.Three

04. Four

05. Cannot be determined
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Six members of a family E, K, O, FFD and W
are related to each other. E is the father of
K who is the only son of D. The only
Unmarried sister-in-law of E is W who has
no brother. O is the only sibling of E. F is
the daughter of K.

If Q is married to K then how is Q related
to O?

0l. Daughter

02. Sister

03. Mother

04. Niece

05. Daughter-in-law
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Six members of a family E, K, O, FFD and W
are related to each other. E is the father of
K who is the only son of D. The only
Unmarried sister-in-law of E is W who has
no brother. O is the only sibling of E. F is
the daughter of K.

How is F related to D?

01. Granddaughter

02. Sister

03. Mother

04. Niece

05. Daughter
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Seven boxes P, Q, R, S, T, U and V are kept one above
another to form a stack. The topmost box is
numbered as 1, the box below it as 2 and so on till
the lowermost box which is 7. EQual number of
boxes are above and below box R. There is one box
between box R and box U. Box P is just above box V,
which is an even-numbered box. Box T is above box
S and neither box T nor S is adjacent to box R.

THh & a0 & v ¥ 99 P,Q, R, S, T, U 3k V&
Udh & FYT UFh @I ATl g1 98 IR I diFd &7 1,
3% A & 9Fd H 2 R U dE & 99 FAud e
H 7 dF e Srar 81 969 R$ 39 3 A a4t
HEIT X g1 d9d R 31X dfq U & i v a9 d ¢l
diFg P, 9199 V, Sl U H UEIT I1T 9199 §, & 3h
Wl dEFA T,d0 SH FIW g IR T A areq T3R o
g 919 S, 99T R & 3T &l
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Seven boxes P, Q,R, S, T, U and V are kept one
above another to form a stack. The topmost
box is numbered as 1, the box below it as 2 and
so on till the lowermost box which is 7. Equal
number of boxes are above and below box R.
There is one box between box R and box U.
Box P is just above box V, which is an even-
numbered box. Box T is above box S and
neither box T nor S is adjacent to box R.
Which box is just above box R?

g9 R ¥ 8 39X SiT 9T 9199 g7

1) Box Q / died Q
2) Box P / 918 P
3)BoxV / s&q V
4)BoxT [/ Sdd T
5) Box S / 919H S
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Seven boxes P,Q,R, S, T, U and V are kept one
above another to form a stack. The topmost box is
numbered as 1, the box below it as 2 and so on till
the lowermost box which is 7. Equal number of
boxes are above and below box R. There is one
box between box R and box U. Box P is just above
box V, which is an even-numbered box. Box T is
above box S and neither box T nor S is adjacent to
box R.

Which of the following statement is correct?
Rrafaf@d & @ & &1 FuT @@ 82

1) Box U is just below box Q / SlFg UdlFd Q&
& T g 5

2) Box R is an odd numbered box / ¢ R fawH
HEIT 9Tl 9199 &

3) Box T is the topmost box / afFd T Tad Ful
gl &

) Tw%\p boxes are above box P / 9iFd P & F4T &l
CICT)

5) All statements are correct / ¥t #aa Tgr &
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Seven boxes P,Q,R, S, T, U and V are kept one
above another to form a stack. The topmost box
is numbered as 1, the box below it as 2 and so
on till the lowermost box which is 7. Equal
number of boxes are above and below box R.
There is one box between box R and box U. Box
P is just above box V, which is an even-
numbered box. Box T is above box S and neither
box T nor S is adjacent to box R.

If all the boxes are arranged in reverse
alphabetical order from top to bottom then
which box remains in the same position?

afg weft afFE I § T &) 3R Ie¢ qUIgHA H
sgafeyd gia & aY Sl a1 afFq 36 TU 7 @ar 87
1) V

2) S

3)T

4) P

5) U
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Seven boxes P,Q,R, S, T, U and V are kept one
above another to form a stack. The topmost
box is numbered as 1, the box below it as 2 and
so on till the lowermost box which is 7. Equal
number of boxes are above and below box R.
There is one box between box R and box U. Box
P is just above box V, which is an even-
numbered box. Box T is above box S and
neither box T nor S is adjacent to box R.

How many boxes are above box V?
9Fd V& IR fFaa g §2

1) Two / a

2) Five / 9=
3) Three / d=
4) Four / IR
5) Six / &:
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Seven boxes P, Q, R, S, T, U and V are kept one
above another to form a stack. The topmost
box is numbered as 1, the box below it as 2 and
so on till the lowermost box which is 7. Equal
number of boxes are above and below box R.
There is one box between box R and box U. Box
P is just above box V, which is an even-
numbered box. Box T is above box S and
neither box T nor S is adjacent to box R.

Box is the bottommost box.
Ty 98 A qrem dreFd 2
1) S
2) T
3) U
AR

5P
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Eight persons A, B, C, D, E, F, G and H have
different ages (in years) among 15, 30, 31, 38, 42,
45, 50, 51 but not necessarily in same order.
Number of persons born before H is equal to
number of persons born after E. A is younger
than C. Fis 1 year elder than B. G's age is
multiple of 7. D is 45 years old.

TS =Ifad A, B, C, D, E, F, G 31k H &I 31a91-31a9T
3y (ast #) 15, 30, 31, 38, 42, 45, 50, 51 & &I ¢
amm-&aﬁﬁ:wﬁwﬁg’nH#mﬁ
qfFdAT Y EAT E & 91 oA ool dlel eIfFaar &y
TEIT & WX 81 A, CH BT &1 F, BT 1 a¥ 371 &
G &Y 3T 7 FT I0F gl D FA 3 45 a¥ B
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Eight persons A, B, C, D, E, F, G and H have
different ages (in years) among 15, 30, 31, 38, 42,
45, 50, 51 but not necessarily in same order.
Number of persons born before H is equal to
number of persons born after E. A is younger
than C. F is 1 year elder than B. G's age is
multiple of 7. D is 45 years old.

Bis years old.

B &1 3y a9 g

1) 15
2) 38
3) 50
4) 30
<7<'7@Reasoningbybasantsir 5) 31

1
|
v
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Eight persons A, B, C, D, E, F, G and H have
different ages (in years) among 15, 30, 31, 38, 42,
45, 50, 51 but not necessarily in same order.
Number of persons born before H is equal to
number of persons born after E. A is younger
than C. Fis 1 year elder than B. G's age is
multiple of 7. D is 45 years old.

Which of the following statement is definitely
correct?

frfaf@d & @ ol a1 a9 ARad ¥ F 97 72
1) Eis 51yearsold / E#r 31g 51 a¥ ¢

2) AiselderthanF / A, F& 931 &

3) Only two persons are elder than G / &ad al
P GH a3 &

4) Hiselderthan A / H,AQ 3T §

5) All are correct / 9 acg &
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Eight persons A, B,C, D, E, F, G and H have
different ages (in years) among 15, 30, 31, 38, 42,
45, 50, 51 but not necessarily in same order.
Number of persons born before H is equal to
number of persons born after E. A is younger
than C. Fis 1 year elder than B. G's age is
multiple of 7. D is 45 years old.

What is the difference in the ages of E and H?
E 3R H & 3mg & &1 37aw 82

1) 40
2) 33
3) 45
4) 36

<7 @Reasoningbybasantsir 5) 23

1
|
v
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Eight persons A, B, C, D, E, F, G and H have
different ages (in years) among 15, 30, 31, 38, 42,
45, 50, 51 but not necessarily in same order.
Number of persons born before H is equal to
number of persons born after E. A is younger
than C. F is 1 year elder than B. G's age is
multiple of 7. D is 45 years old.

How many persons are elder than F?

F& forast afda 3 87

1) Five / 919
2) Three / die
3) Two / @

4) Four / IR
5) Six / &8
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Eight persons A, B,C, D, E, F, G and H have

different ages (in years) among 15, 30, 31, 38, 42,
45, 50, 51 but not necessarily in same order.
Number of persons born before H is equal to
number of persons born after E. A is younger
than C. Fis 1 year elder than B. G's age is
multiple of 7. D is 45 years old.

Whose age is 50 years?

feraehr 3Mg 50 a¥ 82

1)B
2) C
3) A
AY =

% @Reasoningbybasantsir 5) F
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Eight people A,;B,C,D, P, Q, R,and S are sitting around a square
table. Such as four of them are sitting in the middle of the table
and four of them are sitting in the corner.The person sitting in
the middle of the table faces the outside direction and person
sitting at the corner of the table faces the inside direction of the
table. R is sitting second to the right of D. Only one person is
sitting between R and S. Only one person sitting between Q and
P.A is sitting immediately to the left of R. Only two people are
sitting between A and B. Q is sitting second to the left of C.C is
sitting immediately left of S. P is not sitting at the middle of the
table.

s safdd A, B, C, D, P, Q, R 3R S & TeR A & IR 3R
WEN IR P E F A TIRAT S Al & I § 3ik
AT AR A WS B AT F g A dS5 © T dTET T
IR FFAE § 3 AT & F0 W S fFa ey A

=
3
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R is sitting second to the right of D. Only one
person is sitting between R and S. Only one
person sitting between Q and P. A is sitting
immediately to the left of R. Only two people
are sitting between A and B. Q is sitting
second to the left of C. C is sitting immediately
left of S. P is not sitting at the middle of the
table.

Who is sitting second to the left of P?

P & a0 & g8 T W Hi do71 82

1)D
2) A
3)R
AR
5) Q
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Who is sitting second to the left of P?
P & 91T & gEY ¥ T HieT 43T 82

1)D
2) A
3)R
AR
5) Q

4 @Reasoningbybasantsir
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R is sitting second to the right of D. Only one
person is sitting between R and S. Only one
person sitting between Q and P. A is sitting
immediately to the left of R. Only two people
are sitting between A and B. Q is sitting
second to the left of C. C is sitting immediately
left of S. P is not sitting at the middle of the
table.

Who is sitting third to the right of R?
R & U & R T T FisT da1 872

)P
2) Q
3)D
4) A
5) C
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Who is sitting third to the right of R?
R & gT¢ & X T« W i da1 82

1) P
2) Q
3) D
AP
5) C

4 @Reasoningbybasantsir
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R is sitting second to the right of D. Only one
person is sitting between R and S. Only one
person sitting between Q and P. A is sitting
immediately to the left of R. Only two people
are sitting between A and B. Q is sitting
second to the left of C. C is sitting immediately
left of S. P is not sitting at the middle of the
table.

How many people are sitting between P and A
from left of A?

A& 9T ¥ P 3R A& dfiw frda safeq 48 &7

1) Six / &g

2) Four / IR

3) Five / 9/

4) One / T&

5) Two / &
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How many people are sitting between P and A
from left of A?

AF q¢ & P IR AF T Faa afea 88 &2

1) Six / &%
2) Four / IR
3) Five / 9=
4) One / T&
5) Two / al

4 @Reasoningbybasantsir
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R is sitting second to the right of D. Only one
person is sitting between R and S. Only one
person sitting between Q and P. A is sitting
immediately to the left of R. Only two people
are sitting between A and B. Q is sitting
second to the left of C. C is sitting immediately
left of S. P is not sitting at the middle of the
table.

Four of five are same in a certain way. Find the

odd one out?

9 # ¥ IR U fARad afid @ g3 &1 Bea A
AT hIA|

1) C

2) Q

3)B

4) A

YD



\IBPS RRB PO / Clerk

Super Series

Four of five are same in a certain way. Find the
odd one out?

9 # ¥ IR U ARad afild @ A &1 @ea A
FATT hIA|

e
2) Q
3) B
AP
5) P

4 @Reasoningbybasantsir
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R is sitting second to the right of D. Only one
person is sitting between R and S. Only one
person sitting between Q and P. A is sitting
immediately to the left of R. Only two people
are sitting between A and B. Q is sitting
second to the left of C. C is sitting immediately
left of S. P is not sitting at the middle of the

table.
Who is sitting immediate between of S and B?

S3R B& &iF g & Fla a1 72

1) Q

2) R

3)P

4) Both option | and 11l / @& | 3T 111 &
5) None of these / S8 ¥ #IE gl
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Who is sitting immediate between of S and B?

S3R B& &iF i & Fia a1 872

1) Q

2) R

3)P

4) Both option | and Ill / @&eq | 3 111 gt
5) None of these / & ¥ &I gl

4 @Reasoningbybasantsir
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Statements :

All prices are costs.

No cost is an amount.

All amounts are expenses.
Conclusions :

. No expense is a price.

Il. All costs being expenses is a
possibility.

1) Only I follows
2) Only Il follows
3) Either I or 1l follows

4) Both | and Il follows
5) None follows
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Statements :

All prices are costs.

No cost is an amount.

All amounts are expenses.
Conclusions :

. No expense is a price.

Il. All costs being expenses is a
possibility.

1) Only I follows
2) Only Il follows
3) Either I or 1l follows

4) Both | and Il follows
5) None follows
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How many such pairs of letters are there in the
word DEMOGRAPHY each of which has as many
letters between them in the word (Both in forward
and backward direction) as they have between
them in the English alphabetical order?

DEMOGRAPHY s # ¥ fohda e & g 8, aa
q¥ 9AF #H Usg (3 3R 9IS gt emat &) & dfiw 3aa
g1 31aW & [oaa 3% €T A<l goidATar 87 & gid 87

1) One / T

2) Two / &

3) Three / di=1

4) Four / IR

5) More than four / IR & 3T&«®
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How many such pairs of letters are there in the
word DEMOGRAPHY each of which has as many
letters between them in the word (Both in forward
and backward direction) as they have between
them in the English alphabetical order?

DEMOGRAPHY s # ¥ fohda e & g 8, aa
q¥ 9AF #H Usg (3 3R 9IS gt emat &) & dfiw 3aa
g1 31aW & [oaa 3% €T A<l goidATar 87 & gid 87

1) One / T

2) Two / &

3) Three / di=1

4) Four / IR

5) More than four / IR & 3T&«®
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Directions- Study the following information
carefully and answer the questions given
below.

Eight persons A, B, C, D, E, F, G, and H were
born on the same date and same month of
different years viz. 1948, 1953, 1956, 1959, 1964,
1966, 1972, and 1981 but not necessarily in the
same order. The calculation of their age is
based on the current year 2020. Two persons
were born between the one who was born in
an odd-numbered year and the one who was
born immediately before B. The number of
persons born before B is the same as the
number of persons born after H. The difference
between the ages of A and G is 5. Three
persons were born between G and F, who was
not the youngest. C was not born in an odd-
numbered vear and was born after D. E was
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fder- fArafaf@a IaR 1 Caeqas reaae
HIT 3 AT T 1w yeat & 3a oA

TS IfFaar A,B,C, D, E, F, G, 3iiX H T SI+A
faffe=r auf A 1948, 1953, 1956, 1959, 1964,
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Two persons were born between the one
who was born in an odd-numbered year
and the one who was born immediately
before B. The number of persons born
before B is the same as the number of
persons born after H. The difference
between the ages of A and G is 5. Three
persons were born between G and F,
who was not the youngest. C was not
born in an odd-numbered year and was
born after D. E was not born immediately
after C.

Who was born in the year 19722

1) A

2) C

3) E

VAW N |
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Who was born in the year 19722
1972 # fHEeHT ST FIHT 4T?

1) A
2) C
3) E
4) H
5) G

4 @Reasoningbybasantsir
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Two persons were born between the one
who was born in an odd-numbered year
and the one who was born immediately
before B. The number of persons born
before B is the same as the number of
persons born after H. The difference
between the ages of A and G is 5. Three
persons were born between G and F,
who was not the youngest. C was not
born in an odd-numbered year and was
born after D. E was not born immediately
after C.
What is the age difference between C
and F?
1) 12

- ’]@Reasoningbybasantsir 2) 20

Y 10O

\\

a
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What is the age difference between C
and F?

C 3R F ¥ 3mg & o< 1 I F41 32

1) 12

2) 20
3) 18
4)13
5) 33

4 @Reasoningbybasantsir
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Two persons were born between the one
who was born in an odd-numbered year
and the one who was born immediately
before B. The number of persons born
before B is the same as the number of
persons born after H. The difference
between the ages of A and G is 5. Three
persons were born between G and F,
who was not the youngest. C was not
born in an odd-numbered year and was
born after D. E was not born immediately
after C.

E was born in which year?
1) 1953

2) 1966

3) 1964
AN 1091
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E was born in which year?
E & oied f&a a¥ & gam a7

1) 1953
2) 1966
3) 1964
4) 1981
5) 1972

4 @Reasoningbybasantsir



\IBPS RRB PO / Clerk

Super Series

uf @Reasoningbybasantsir

Two persons were born between the one
who was born in an odd-numbered year
and the one who was born immediately
before B. The number of persons born
before B is the same as the number of
persons born after H. The difference
between the ages of A and G is 5. Three
persons were born between G and F,
who was not the youngest. C was not
born in an odd-numbered year and was
born after D. E was not born immediately
after C.

What is the sum of age of A and G?

1) 110

2) N7

3) 102

VAN e Ly
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What is the sum of age of A and G?
A 3R G Y AT T ARTHe FAT 52

1) 110

2) 17

3) 102

4) 87

5) None of these / 3dH & #I$ gl

4 @Reasoningbybasantsir
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Two persons were born between the one
who was born in an odd-numbered year
and the one who was born immediately
before B. The number of persons born
before B is the same as the number of
persons born after H. The difference
between the ages of A and G is 5. Three
persons were born between G and F,
who was not the youngest. C was not
born in an odd-numbered year and was
born after D. E was not born immediately
after C.
Who was born between B and C?
1) G
2) H

- ’]@Reasoningbybasantsir 3) A

VA Y m

\\

a
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Who was born between B and C?

Bsﬁtc$aﬁa#ﬁmmam§3nm?

K
2) H
3) A
4) D
5) E

4 @Reasoningbybasantsir
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Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in
two parallel rows. Row-1 is facing west and row-2 is facing east. L,
M, O, S, T and U are facing towards west. Each person of row-1 is
facing the other person of row-2. V sits at one of the ends of the row
and second to the left of C. There are two persons between D and N.
There is only one person between T and S. U sits third to the right of
M and is neither opposite to V nor C. S and T are not opposite to V.
L and S are adjacent to each other. N is not adjacent to A, who is not

opposite to T.
SR ARE N, L, M, 0, S, T, U, V, A, B, C 3R D 3 GHIdR Ufrai &

é%%mﬁmqf&n%w%aﬁwﬁﬁzqé%w%w M, O,S, T
ﬁ?Uﬁﬂw%W%Qﬁﬁlwm—Qﬁﬁuﬁm%aﬁ—Qﬁs%
TR 21 'V Uk % Ueh B U 31 C & 910 60X T W FST 21 D 3R N
& ot 2t safw %lTaﬁ'{Séaaﬁ%réﬁ?'r &af<F 81 U, M % 270 a1
Wwéa%aﬁia%qa‘rvaﬁwﬁc%%uﬁa%l SRT, V¥
forodia 721 81 L 9 S Teh GO o ST H 81 N, AR AT T, ST
& faroda 2?1
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Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in
two parallel rows. Row-1 is facing west and row-2 is facing east. L,
M, O, S, T and U are facing towards west. Each person of row-1 is
facing the other person of row-2. V sits at one of the ends of the row
and second to the left of C. There are two persons between D and N.
There is only one person between T and S. U sits third to the right of
M and is neither opposite to V nor C. S and T are not opposite to V.
L and S are adjacent to each other. N is not adjacent to A, who is not
opposite to T.

Who among the following sit at the extreme ends of row-2?

(1) O,V

2) V.B

3) T,0

(4) N,D

(5) None of these
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Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in
two parallel rows. Row-1 is facing west and row-2 is facing east. L,
M, O, S, T and U are facing towards west. Each person of row-1 is
facing the other person of row-2. V sits at one of the ends of the row
and second to the left of C. There are two persons between D and N.
There is only one person between T and S. U sits third to the right of
M and is neither opposite to V nor C. S and T are not opposite to V.
L and S are adjacent to each other. N is not adjacent to A, who is not
opposite to T.

How many persons are there between S and O?

(1) One

(2) Two

(3) Three

(4) None

(5) None of these
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Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in
two parallel rows. Row-1 is facing west and row-2 is facing east. L,
M, O, S, T and U are facing towards west. Each person of row-1 is
facing the other person of row-2. V sits at one of the ends of the row
and second to the left of C. There are two persons between D and N.
There is only one person between T and S. U sits third to the right of
M and is neither opposite to V nor C. S and T are not opposite to V.
L and S are adjacent to each other. N is not adjacent to A, who is not
opposite to T.

Who among the following sits second to the right of N?

(HM

2V

4) A

3)D

(5) None of these
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Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in
two parallel rows. Row-1 is facing west and row-2 is facing east. L,
M, O, S, T and U are facing towards west. Each person of row-1 is
facing the other person of row-2. V sits at one of the ends of the row
and second to the left of C. There are two persons between D and N.
There is only one person between T and S. U sits third to the right of
M and is neither opposite to V nor C. S and T are not opposite to V.
L and S are adjacent to each other. N is not adjacent to A, who is not
opposite to T.

Who among the following is the opposite of M?

() C

2)D

CI

(5) None

3 A
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Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in

two parallel rows. Row-1 is facing west and row-2 is facing east. L,

M, O, S, T and U are facing towards west. Each person of row-1 is

facing the other person of row-2. V sits at one of the ends of the row

and second to the left of C. There are two persons between D and N.

There is only one person between T and S. U sits third to the right of

M and is neither opposite to V nor C. S and T are not opposite to V.

L and S are adjacent to each other. N is not adjacent to A, who is not

opposite to T.

Which of the following statements is/are true.

(1) S does not sit adjacent to L.

(2) D sits opposite the person who sits third to the left of L

(3) C sits opposite L.

(4) N does not sit opposite the person who sits to the immediate
right of L.

(5) None of these
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used with the following meanings:

A % B means A is greater than B.

A # B means A is greater than or equal to B.
A $ B means A is smaller than B.

A (@ B means A is smaller than or equal to B.
A ! B means A is equal to B.

Statements:

CSLFSD@WE;CH#HG %F

Conclusions:

ILFS$J

II. G % E

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or 11 is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusions I and II are true.

4 @Reasoningbybasantsir
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In the following questions the symbols %, #, $, @ and ! are
used with the following meanings:

A % B means A is greater than B.

A # B means A is greater than or equal to B.
A $ B means A is smaller than B.

A (@ B means A is smaller than or equal to B.
A ! B means A is equal to B.

Statements:

A%M;P@S!A;MSK!R

Conclusions:

LLS% M

ILPSK

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusions I and II are true.

Super Series
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Super Series In the following questions the symbols %, #, $, @ and ! are
used with the following meanings:

A % B means A is greater than B.

A # B means A is greater than or equal to B.
A $ B means A is smaller than B.

A (@ B means A is smaller than or equal to B.
A ! B means A is equal to B.

Statements:

P%Q;sT@S;T%U!P

Conclusions:

I.LS#U

ILQST

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or 11 is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusions I and II are true.

4 @Reasoningbybasantsir
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Super Series In the following questions the symbols %, #, $, @ and ! are
used with the following meanings:

A % B means A is greater than B.

A # B means A is greater than or equal to B.
A $ B means A is smaller than B.

A @ B means A is smaller than or equal to B.
A ! B means A is equal to B.

Statements:

VaS;Q#P % V;S% T

Conclusions:

LP%T

II. Q$S

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusions I and II are true.

4 @Reasoningbybasantsir
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Six people P, Q, R, S, T and U are to be allotted a room in a
hotel. There are six rooms numbered 311, 312, 313, 314, 315
and 316 (from left to right) and one person is to be allotted
one room. Moreover, P cannot be in the room immediately
to the left or right of Q. R must be in a room immediately to
the left of S’s room. U cannot be in room no. 316. P's room

number is 315.

BE AN P, Q, R, S, T 3R U i Teh BleeT W Teh THET AT e
foram ST 31 g v 2 ekt @t 311, 312, 313, 314, 315
3T 316 (STT A 2TH) ¥ X Teh SATTh ok Yok BT AT T R
AT 21 39k AT, P, Q%gwmmaﬁﬁmﬁwﬁﬂﬁw
THAT| R T S 3 A 3 G TE ATl AL H @7 0T U
FHIT TR 316 H T T AhdTl P T HERT T’ 315
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Six people P, Q, R, S, T and U are to be allotted a room in a
hotel. There are six rooms numbered 311, 312, 313, 314, 315
and 316 (from left to right) and one person is to be allotted
one room. Moreover, P cannot be in the room immediately
to the left or right of Q. R must be in a room immediately to
the left of S’s room. U cannot be in room no. 316. P's room
number is 315.

Except P, which of the following person's place is certain?
(DR

2) Q

R

DT

3 Uu
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Six people P, Q, R, S, T and U are to be allotted a room in a
hotel. There are six rooms numbered 311, 312, 313, 314, 315
and 316 (from left to right) and one person is to be allotted
one room. Moreover, P cannot be in the room immediately
to the left or right of Q. R must be in a room immediately to
the left of S’s room. U cannot be in room no. 316. P's room
number is 315.

If S is in room no. 313, then R should be in which room?

(1) 312

(2) 311

R)RIY

GIRIK

(5) None of these
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Six people P, Q, R, S, T and U are to be allotted a room in a
hotel. There are six rooms numbered 311, 312, 313, 314, 315
and 316 (from left to right) and one person is to be allotted
one room. Moreover, P cannot be in the room immediately
to the left or right of Q. R must be in a room immediately to
the left of S’s room. U cannot be in room no. 316. P's room
number is 315.

Who among the following cannot be in room no. 312?

(1) Q

2P

3R

4 S

S Uu
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